The Atoms Family

Atomic Math Challenge
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Atomic # = / 7L
Atomic Mass = 28
# of Protons = _/ v
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Atomic # = _‘770
Atomic Mass = _ &3
# of Protons = __ 3¢
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Atomic # = 75

Atomic Mass = 50
# of Protons = IS5
# of Neutrons = '% >

# of Electrons = 3 _
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Atomic # = / @
Atomic Mas_s = w X
# of Protons = _/C
# of Neutrons = / ‘-/9

# of Electrons = _/ ¢
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Atomig.:’_ Mass = Q"?'L

# of Protons = _ /2~
# of Neutrons = _ 7 2
# of Electrons = _ /2~
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Atomic # = E
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Atomic Mass = /3L 2

# of Protons = 53

# of Neutrons = _ i
# of Electrons = _~—"~
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Atomic # = / 9

Atomic Mass = ‘/0

# of Protons = __/ g
# of Neutrons = 22—
# of Electrons = /5
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Atomic # = /

Atomic Mass = /

# of Protons = /

# of Neutrons = _
# of Electrons = __ /.
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Atomic # = ﬁ
Atomic Mass = _5 5:__

# of Protons = 23
# of Neutrons = I Oﬁ_
# of Electrons = _ 23
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Atomic # = ﬁT
Atomic Mass = C}‘ :

# of Protons = __/ 7
# of Neutrons = __ #?
# of Electrons . £

9
e
Fluorine
18.998
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# of Neutrons =_/9__
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